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 NOTES: Section'13.6 — Apply the Law of Cosines

Goals: #1 - 1 can solve a triangle using the Law of Cosines.

#2 - 1can use Heron's area formula to find the area of a triangle when given 3 side

lengths. e Gat £3

Homework: Lesson 13.6 Worksheet

Warm Up:
C 1. Solve AABC. Round answers to the nearest tenth.
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2. Find the area of AABC.

B-180°-195°-30.7°
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Review:

We can use L&N N ‘R S \ ﬂ &S for triangles in the following cases:
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Notes:

How do we solve \’Y \ (Ln% \(’ 5 in other cases?

« LOW ofF  Cosangs
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This can be used to 5“ \Q (' triangles in the following cases:
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& Example #1: Solve AABC witha = 11,c = 14,and B = 34°
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(" Example #2: Solve AABC with a = 12-,b = 2.7, and ¢ = 20
ﬂf E” * Find VOYgesy ongle BwSk) (other nwo st
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B You practice: Solve AABC with a =22,b= 15, and C = 108°
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C You practice: Solve AABC witha = 19,b = 26,and ¢ = 31
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Notes:
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When only given the &Q& lengths of a triangle, we can still find the 0X00- ofaABC.

* A= s (5-0) (5-9) (5-0) /B\
' | S c a
© wheres = "—Z_\Q"\?f(a\
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Example #3: A triangular path around an exhibit at the zoo is shown. Find the area of the
exhibit.

B
s 64 f
A Vs s-pY (5 0) 2t Q
| (
TV OB p DB O 9397 A 1ot
VEERDIBIED 577 (1761 +130)

NERRE,

NEETELY

| Y

Scanned by CamScanner




